Naloxone Distribution Project (NDP)						
Application Date	Award Date	Date Narcan Received	# of Units Awarded	Public Interest Price Per Unit	Value of Units	
2/9/2021	2/11/2021	2/25/2021	300	\$75.00	\$22,500	
8/3/2021	8/9/2021	8/18/2021	300	\$75.00	\$22,500	
12/9/2021	1/19/2022	1/27/2022	300	\$72.00	\$21,600	
			900		\$66,600	

# Chiu, Katherine (POL)

From:	Allen, Lizabeth <allenl@ebsi.com></allenl@ebsi.com>
Sent:	Thursday, February 25, 2021 2:03 PM
То:	Chiu, Katherine (POL)
Subject:	RE: [External] Estimated Value of Narcan

This message is from outside the City email system. Do not open links or attachments from untrusted sources.

Hi Kathy,

How are you? All is well here!

<mark>300 units of Narcan at the Public Interest Price of \$75 per unit is \$22,500.00.</mark> I used a calculator because math is not my forte : )

I hope that helps.

Best regards,

Lizabeth

From: Chiu, Katherine (POL) <Katherine.Chiu@sfgov.org>
Sent: Thursday, February 25, 2021 1:29 PM
To: Allen, Lizabeth <allenl@ebsi.com>
Cc: Lee, Katie (POL) <katie.a.lee@sfgov.org>
Subject: [External] Estimated Value of Narcan

Hi and good afternoon, Lizabeth.

I hope you are doing well! Will you please advise on the estimated value of the 300 units of Narcan we just received?

Thanks and take care,

~ Kathy



San Francisco Police Department Fiscal Division 1245 3rd Street, 6th Floor, #6115-M San Francisco, CA 94158-2134 415-837-7211 (direct line) 415-837-7210 (main line) katherine.chiu@sfgov.org

From: Gertsikov, Daniel (POL) <<u>daniel.gertsikov@sfgov.org</u>>
Sent: Thursday, February 25, 2021 1:13 PM
To: Chiu, Katherine (POL) <<u>Katherine.Chiu@sfgov.org</u>>
Subject: Narcan Packing Slip

# Chiu, Katherine (POL)

From:	Allen, Lizabeth <allenl@ebsi.com></allenl@ebsi.com>
Sent:	Thursday, January 20, 2022 9:26 AM
То:	Chiu, Katherine (POL)
Subject:	RE: [External] Estimated Value of 300 Units of Narcan

Hi Kathy,

You're welcome!

The Narcan received in August of 2021 was also valued at \$75 per unit.

Best regards,

Lizabeth

### Lizabeth Allen

Director of Community Health Solutions - CA, NV and HI

C 310 749 9794 E <u>allenl@ebsi.com</u>

#### Emergent BioSolutions 401 Plymouth Road, Suite 400, Plymouth Meeting, PA 19462 emergentbiosolutions.com | LinkedIn | Twitter | Instagram

https://s3-us-west-2.amazonaws.com/narcan-assets-uswest/NARCAN-Prescribing-Information.pdf

From: Chiu, Katherine (POL) <Katherine.Chiu@sfgov.org>
Sent: Thursday, January 20, 2022 8:03 AM
To: Allen, Lizabeth <allenl@ebsi.com>
Subject: RE: [External] Estimated Value of 300 Units of Narcan

Thank you for super quick reply, Lizabeth!

I am preparing documents for our Board of Supervisors to review.

The narcan we received in February 2021 was valued at \$75 per unit totaling \$22,500 for the 300 units received and the narcan we will be receiving soon is valued at \$72 per unit totaling \$21,600 for the 300 units to be received soon.

### Will you please also advise on the value of narcan back in August 2021?

I want to be sure to present accurate values to our Board.

Thank you again for all your help,

~ Kathy

# Chiu, Katherine (POL)

From:	Allen, Lizabeth <allenl@ebsi.com></allenl@ebsi.com>
Sent:	Thursday, January 20, 2022 7:47 AM
То:	Chiu, Katherine (POL)
Subject:	RE: [External] Estimated Value of 300 Units of Narcan

This message is from outside the City email system. Do not open links or attachments from untrusted sources.

Good morning, Kathy,

I'm doing well, thank you. I hope you are, too.

It's great to hear that the SFPD was approved for Narcan!

The estimated value of 300 units of Narcan at the Public Interest Price of \$72 is \$21,600. As you know, the Narcan received through the NDP is at no cost to you, and is given out without a cost to the person receiving it.

Please let me know if I can help further.

Take care.

Best regards,

Lizabeth

Lizabeth Allen Director of Community Health Solutions - CA, NV and HI

C 310 749 9794 E <u>allenl@ebsi.com</u>

Emergent BioSolutions 401 Plymouth Road, Suite 400, Plymouth Meeting, PA 19462 emergentbiosolutions.com | LinkedIn | Twitter | Instagram

https://s3-us-west-2.amazonaws.com/narcan-assets-uswest/NARCAN-Prescribing-Information.pdf

From: Chiu, Katherine (POL) <Katherine.Chiu@sfgov.org>
Sent: Thursday, January 20, 2022 7:39 AM
To: Allen, Lizabeth <allenl@ebsi.com>
Subject: [External] Estimated Value of 300 Units of Narcan

Hi and good morning, Lizabeth.

I hope you are doing well.

SFPD has been awarded 300 units of narcan through the Naloxone Distribution Project (NDP).